
Multiply by Negative Powers of Ten (E)Find each product.
1.072 × 0.01 = 8.4676 × 0.01 =
5.49 × 0.1 = 6.306 × 0.1 =
4.33 × 0.1 = 9.042 × 0.1 =
5.3 × 0.001 = 1.7 × 0.001 =
3.3503 × 0.001 = 0.1 × 0.001 =
2.3826 × 0.01 = 9 × 0.001 =
0.3 × 0.001 = 0.4147 × 0.1 =
5.405 × 0.01 = 6.9481 × 0.01 =
2.9 × 0.01 = 2.25 × 0.01 =
8.987 × 0.01 = 5 × 0.001 =
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Multiply by Negative Powers of Ten (E) AnswersFind each product.
1.072 × 0.01 = 0.01072 8.4676 × 0.01 = 0.084676
5.49 × 0.1 = 0.549 6.306 × 0.1 = 0.6306
4.33 × 0.1 = 0.433 9.042 × 0.1 = 0.9042
5.3 × 0.001 = 0.0053 1.7 × 0.001 = 0.0017
3.3503 × 0.001 = 0.0033503 0.1 × 0.001 = 0.0001
2.3826 × 0.01 = 0.023826 9 × 0.001 = 0.009
0.3 × 0.001 = 0.0003 0.4147 × 0.1 = 0.04147
5.405 × 0.01 = 0.05405 6.9481 × 0.01 = 0.069481
2.9 × 0.01 = 0.029 2.25 × 0.01 = 0.0225
8.987 × 0.01 = 0.08987 5 × 0.001 = 0.005
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